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Big Idea: What is the Pythagorean Theorem?
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Copy and fill out the table below to record the lengths of the sides and the areas of squares attached to
the triangles in the picture.

Leng;h of Length of Length of Area of Area of A“reé‘ of

‘ Ve;tical»L'eg ‘ Ho‘rizontal Leg Hypotenuse | Square 1 | Square 2 Square 3
3 H g Tk I |- 25

5 12 13 25 |+ |4y |64

G 3 |O 36 |* 64 |= |00

EXPLORATION 2

On the floor, table or board, draw a square with sides 1 meter long. Next, draw a diagonal line from one
corner to the opposite corner. Your challenge is to find the length of the diagonal by estimation, checking
with a ruler, and then using the Pythagorean theorem.
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PRACTICE EXERCISES

1. Arright triangle has legs that are 6 inches and 8 inches long. Find the length of the hypotenuse

and the area of the triangle. A 2 h%s 2
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2. Aright triangle has a hypotenuse that is 13 inches long, and one leg that is12 inches long. Find
the length of the other leg. What are the area and perimeter of the triangle?
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SUMMARY (What I learned today)
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